Test-I Enghsh Language

Dlrectmns (Q 1-5): Rearran

ge the following five

3 ;E:ﬁ“ﬁg:ﬁ(&; (’IC), (D) and (E) in a proper sequence to

e ningiul paragra h, th 3
._;{_‘.};_qumtiuns grap en answer the given
(A) The big orange truck was playing music and had

bells that chimed repeatedly,
| (B) When Lisa approached the truck, the man inside

~ itsaid, “Here you go, young lady, enjoy your ice-
cream sandwich.”

(C) Lisa was amazed and said “What a brilliant idea

this is; don’t wait for your customers to come to
you; go out and find them!”

(D) Several people attracted by the bells were walking
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ﬁ-l - (B) One day, Lisa walked to the front of her house
i and was surprised to see a big orange fruck on
the street.

1. Which of the following should be the SECOND
sentence after the arrangement?

E S NAS 2)B 3)C 4)D S)E

2. Which ofthe following should be the FIRST sentence
aﬁer the rearrangement?

Whtch of the following should be the FOURTH
. sentence after the rearrangement?

B A 2B 3C HE | D

“ 4 Which ofthe following should be the THIRD sentence
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free, lﬁlﬂWexs and ﬁ'uil:s and more sacd:-. |
expluing ___j,:_ug‘g‘ﬁrdemn Now his brother realised his
mistake, From that day on, he was nof lazy anymore. He
nted helping bis brother in nurtuping the plams and
He w "_: now well aware of the secret of nature,
Which: ﬂ‘leﬁ}llawing statcmentsmruemthe context

;nar s brt}ther Waﬁ lwo ycarb oldﬁr Lhan

- :,;'lcaving for the tewn thc gardencr knew his
£ "’I_would fall 1o compiete thc task asmgned to -

h ;:gﬁrﬂaner s br{)ther was _;f:alaus of h:m since
Ehﬂdlmod |
_-‘gu;'_'a gardenar did not expiam how to take care of
hls 'plants because of this his plants dled
| ’Qﬂ%ne of the given statcments is true
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. word which is wron
- isyour answer.

-l'spe!t and also apprapriate in the context of the sentence,

Zo _mﬂnkey dmpped &imi}st f

o 1) Whl!e trying to pmk up
- 2)the few fallen ones,
- 3) the mﬂnkey dropped a!most

 dall the ﬁ'uxts encased hIS handa
- S)Noemror

' Dlrectmns (Q 21-25) ln this qucstmn, a sentence

~;. : wnth four words in bold type is given, One of these four

words glven in hﬂh‘l may be either wrongly spelt or |

Al inappropriate in the context of the sentence. Find out the

gly spelt or mapprﬂp riate. That word
If all the words given in bold are correctly

mark ‘All currect’ as your answer. s
j‘f‘___ '2 Leaders and mangcrs must communicate well with

emplnyaes customers mvestors and society as a
whole. ' |

s | ) _m.angers - 2)communicate 3) empfnyees

4)whole: S)Allcorrect

. The government will push through economic reforms
~once the knew financial year begins. |
Dpush 2)knew 3) financial
4) begins 5) All correct '
Committees have been asked to dispoze of all gnwancc

. petitions within the next fortnight.
1) dispoze 2) petitions 3) within
4) fortnight 5) All correct

havea vahd:t:e permd
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Generally gift cards do not allow a cash refund and
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) Either _,_;'m i 5) Either *2'or ‘6 -

IQ 37-41): Study the following information
ully and answer the given questions.

S, LUV, W. X, Y and Z are sitting around a circular
facing the centre but no necessarily in the same
der. S sits third to the right of T. Only three people sit
betwee ﬂand X. U isneither an immediate neighbour of S
nor of [ Only three people sit between T and W. Z sits on

o

"'; 1 ,.fﬁﬁmediaie right of W. V sits third to the left of W.
How many people are seated between S and Z, when

wd from the rightofS?

_':.31'_},1N£;Hlﬂ 2)Twe  3)Four 4) Three 5)One

. Who amongst the following represent the immediate

;quighbnurs of §? |

1)Y DXZ 3)wv AW, X S)VY

ﬂ\" 4 R W



i all the nw*nkmrs i

L it to righn, which
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= number and the ﬁmnd dlgxt of the hnghﬂ:st number
: .-_.Mmulnpllcd? -

= 51 5 Thﬂ mmtmns of tht first; amd thf: third dlg:t of %ch of

. the numbers are interchanged. What will be resultant

L if the first digit of the lowest number thus formed is
divided by lhc secﬂnd digit of thﬁ highesl number
;©  thus fnnncd’? = _

g s WS 9

. R in f:ach number all the digits are arranged in

e a_dﬁscendmg order from left to right within the number,

how many numbers thus formed will be odd numbcrs"

= D) None 2)Three 3)Four 4)One  5)Two

S Dinecﬁons Q. 54-55): Study the fnlluwingin!’urmaﬁnn

Eﬂrﬁfulty and answer the given questions. =5

% = Pis the father of D. D is the only son of T. T is the

jdatzghter of J. T is the mother of G. G is the sister of V.

:"_‘__25,,‘3-.._'_;_'__,-- IfJ is married to B, then how is B related to G?

e D Dauvhter-imlaw -2) Son-in-law

. B)Father " 4)Mother

- 5)Cannot be determined

55, Howis VrelatedtoP? %

. 1)Daughter  2)Father = 3)Mother

. 4)Cannotbedetermined '~ 5)Son

re ﬂmigﬂﬂ in ﬂ!ii:ﬁfldiﬂg order ffﬁﬂ‘l] =
of the following will be sum of all
he number whh:h s lhird frnm the_f

ok Whant Wt!lbelim muitam if the third digztﬂf‘ the lowest -

LDy 3)10 4}35 S

S I atmany Glchonhisd 6 E [atiats ave fhereih the word

61,

s g N i ol A L e

l;\_.l—l"{“lﬂn.._]-—ummmm‘h:-hw

st = |



pnund interest (cc-mpoundf:d annual ly) at QG% pa
£ ;,rears lf the mterest camed ﬁ-um scheme A is

__ql_n_w:sted in schcme A? | £
N%000.  2)Tog0 3)?4500
)?3.60;0. : 5) None of these

'I’wo trains started running from the same point at the
‘same time in opposite directions (one towards North
f__'él;d the other towards South). The speed of the two

;i%t:lfams 1§22 m/s and 8 m/s respectwely How much time
_::mil they take to be 378 km apart?

1)3h 30 minutes 2)3h20 minutes 3)4h 30 minutes
"'.___.'__._.) 4h 52 minutes 5) Nﬂne of these

2 ‘ 1
0f a number is two Iess than 5 of another number,

-f[f"the sum of the two numbers is 5, what is their
product? :

])72 2)64 3)54 - 4)63 -~ 5)56

- Directions (Q. 72-81) What will come in place of
'_question mark (?) in the given question?

2. 93x7’+\/47 64="5" . -
N o 3)5 4)6 3)3
-:3-+1—+ of 2= 759

(B
1_)290 2)210 '3)270 4)230  5)250

T4. (0.6 X450) -5 =2 x2?

7

81
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